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26. The chemical equation shows CaCO3 being heated. Which of these statements best describes the mass of the products if 100 g of CaCO3 is heated? (Grade 11 2004A; I.8-C)
A The difference in the products’ masses is equal to the mass of the CaCO3.

B The sum of the products’ masses is less than the mass of the CaCO3.

C The mass of each product is equal to the mass of the CaCO3.

D The sum of the products’ masses equals the mass of the CaCO3.
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30. When 127 g of copper reacts with 32 g of oxygen gas to form copper (II) oxide, no copper or oxygen is left over. How much copper (II) oxide is produced? (Grade 11 2004A; I.8-C)
F 32 g

G 95 g

H 127 g

J 159 g
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40 Inthe proeedure shown above, a calctum chloride solution is mixed with a sodium sulfate solution to
croato the products shown. Which of tho following is llustrated by this activity?

The law of conservation of mass

Tho theory of thermal equilibrium

The law of conservation of momentum

“zam

Tho theory of covalent bonding
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The illustrations show a conservation-of-mass experiment. The solution in the beaker lost mass because — 
F materials have less mass at high temperatures

G the mass of the reactants and products was less than 100g

H sodium sulfate (Na2SO4) is lighter than air

J some of the water molecules turned into gas
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44. When the above equation is balanced, the coefficient for magnesium chloride is — (Grade 11 2004J; I.8-C)
A 0

B 1

C 2

D 4

